-

T

»
f

.

R TR T TR

T e

Y e e TR T ™ %,

ey, &

i

Q‘)\ Q‘r Just Qe an  adp irent, To gqek
torghness [evel,

Tt net on ancwer 128'1 I hved 4o 3imulate exam Likee. \\

Frhe mpleq

Mo hypey pasibuitby,

)
8/_‘\“"\“"7 ‘*&i’ don'} vead but ' Samlekhna ' ve 7famuuj:
" L]
M one FARE L Tnkubion Aowe murt be cayeml while
Tougly Dhanyakatak °‘°,n°“"“!l regions was 4, Which one of the following explains H"‘J‘I"‘]
_E‘ﬁ.——a PTOmincmn'B Which  flourished as ucs\r‘ the practice of Vattakirutal’ as
the Mahnsanghnl:.:l:hl‘s‘ centre under & mentioned in Sangam poems? |'rhv"
{ o k‘-‘_' Oc.alCd? Knh'h (a) Kings employing women Narth Soulh
| Yal~ Andhm poi i SR L0 be 4 dﬂ bodyguards
‘ ' Aghvka Sthavir (b} Learncd persons assembling in Term

(b) Gandhara ’ N&hasanjwh‘a royal courts to discuss religious | Lgye

and philosophical matters .‘4
(c) Kalinga ~ Mahagcors b kas in (c) Young girls keeping watch over
agricultural fields and driving away
(d) Magadha A ndhyea Pmclu’ birds and animals
Unde, Mauryain ¥ A king defeated in_a_battle
' Vith reference to ancient lng]i'a,rtc-onsidcr g?;nn:?rl\:lzigm b
00 the following statements :
QOA-‘L 1.. The CONCEBE 6f/St is: Budd 5. Consider the follqwing dynasties :
) . cpt o u i
E in Ol'igih. P pais L hist 7\ 1. Hoysa]a w ald Hb“.\"‘ﬂ +
L leve] d 2. Gahadavalg\_ Kakahlyq
i 2. Stupa was generally a repository Eo ] 4
6 wJ-Of relics. /4 3. Kakatiya (127 QU&/\-'

. 4. iyank
uha]fyﬂﬂ& gzupa was a votive and . SIS pie
Aryr n commemorative structure in How many of the above dynasties 7

H_"YE Buddhist tradition. established their kingdoms in early
Cy)iyre eighth century AD? - qq Laduoa\
How many of the statements given (@) Only one alro Hmdp‘eol
; above are correct? May % mplfc'} (b) Only two
o v © (c) Only three - ‘ioo‘ovac, W -
(@ Only one oM different ~TaJ” None Generally So,

’ s - N . R . t
(b) Only two Inter PN ta homy bker 6. With reference to ancient Indian Hls!or_y.l °3L“ﬁ,\

bub ay an GIPiYa¢ o< consider the following pairs :
__{o} All three all qye |¢0¥-¢'ﬁ} . %erary work Author
(d) None Cor "m , 1. Devichandragupta Y Bilhana
lu}fc 1. 2. HarmniMkaqu/ Na;m_c}:andra Suri
3. erence to ancient South India, 3. Milinda-panha *P“’]“.magaxjuna -~
Poompuhar and Muchin were 4

: H iti 2 H :
well known as vaakyamn\y Somadeva Suri

. i How many of the above pairs are
(a) capital cities ?\ correctly matched? '
@] ports (a) Only one 5P \’M-O ve .['fhd;c::{

on-a \-/‘ el making

b} Only two e J.DBA\‘CQ”\-’, Theve

(c) Only three
\d’ﬁ s;r-" (d) shrines of Jaifi Tirthankaras » (d) Al four A qf tﬂ)"’;‘]o A0 -4
e} § . ok be
%% Lecaure  Auch harmy Yememnibered .
XDTG-F-GST/62B L€ 3”,(75-” 1 Jort 3 (PO

Find 1h quy bk o

-Lgu\ {c) centres of ir

c[ar.r no k:“'

Mindgelr Makery (or LPxC 997103005 2 ’W'C —}_om
S
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7. “Souls are not only the property of
animal and plant life, but also of rocks,
running water and many other natural
objects not looked on as living by other
religious sects.”

The above s_tatement reflects one of
the cpre beliefs of which one of the
following religious sects of ancient

India? — . 3
» €o
(a) Buddhism bar!(.l/_\
) Jainism * (o J arns

(c) Shaivism
(d)
L8 Who among the following rulers of
W)A(’*‘“ jjayanagara Ernpire consirucied &
large dam across Tungabhadra River
and a canal-cum-aqueduct several
Kilometres long from the river to the

Vaishnavism

capital city?

(g)” Devaraya 1 ¢ V{IOYDT'&%‘:{O

(b) Mallikarjuna em—;o)re .

(c) Vira Vijaya alwap™ &

(d) Virupaksha Vo url e h po
By 0P C

a

wing rulers of

o among the follo :
ndered Diu to

medieval Gujarat surre
Portuguese?

(a) Ahmad Shab e © crcintesuhon
() Mahmud Begar O&_ Med bals

_Jor"Bahadur Shah basre painhy
/d) Muhammad Shah An\.’ a0
. the following Acts
10. By which one o(;'r General of Bengal

QIV) ’ ~was the Govern
/deSignated as the Governor General
of India? v
. [
(a) The chulatmg Ac boire
(b) The Pitt’s India Act o
(c) The Charter Act of 1793

\th Charter Act of 1833

XDTG-F-GST/62B

54

o Colonial erosturhy

Y0y analyls Fro puLJ-7;
Luck Q% glwayy esry dut
Care ful Yeaci4'h-3 OjC all gph'am"

11. In essence, what does ‘Due Process of
Law’ mean?

(a) The principle of natural justice
{b) The procedure established by law

\Jef/ Fair application of law
(d) Equality before law

12. Consider the following statements :

Statement-I : ‘071‘( s %enera' abserva Pem
in India, prisons are managed by
eyrech

\/‘sx_l;ate//@ﬂg_mmmts with their own
Tiles and regulations for th RS

day-to-day administration of prisons.

Statement-II :
In India, prisons are governed by the

Prisons Act, 1894 which expressly
kept the subject of prisons in the
control of Provincial Governments.

Which one of the following is correc in may be
respect of the above statements? >y F”‘ m

Moth Statement-l and Statement— o)
are coirect and Statement-II is the\. {§
correct explanation for Statement-I

(b) Both Statement-I and Statement-11 kot %~
are correct and Statement-Il is otX
not the correct explanation for
St t t— L}

atement-I off'd a'

{cj Statemcnt-! is  correct but ceq.
Statement-II is incorrect

(d) Statement-I is incorrect but

Statement-II is correct

13. Which one of the follaws ing statements
best reflects the urpose of the

‘Constitution’ of a oy?
(a) It determines the objective for the x
making of fiecessary laws:

(b) It enables the creation of political
offices and a government. L

\/C(:) It defines and limits the powers of

“ Cp—

secures social justice, social

equality and social security.

E zplanabom will be dr feve]
'}fr Rure fo °m.‘&"“‘°“],

bwly 94%!"? D g g’*‘-"’erNQb‘Qh?i
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14. In Indig, i
Constititiona

watl
U\-AA: ‘\n

the judicial interprepay:
ctat
Fundamental Rights?p ations of the

(@) 1st Amendment C"‘“’Aclm{
Wh)—a9nd Amendment {WHni
lc)  44th Amendment

vy ey

1

ved  ta
] v o

NS aam e
o

-~
M Yyvavuvanae

e

pa

f grond"

\%a’;‘.(, ew Qﬂgsw\(\.

¢\
With ce to Finance Bill and Money
Rill in the Indian Parliament, consider
the fallnuring etatements

1 When the Lok Sabha transmits
Finance Bill to the Rajya Sabha,
it can amend or reject the Bill.

When the Lok Sabha

e

~
P o Yvitia avawaaa

X

transinits

v

Al RAth Ameandment Money Bill to the Rajya Sabha, e
i Il cannol amend vl seject the 2
15. Cons.ldcr. the following organizations/ it can only make rccommendations,
’ v _bodies in India : '
0S l. The National c P 3. In the case of disagreement
Backward o] ommission  for o between the Lok Sabha and the Lo
P T 5S€S  Caryeuty Cour b ’"f*“/ Rajya Sabha, there is no joint
. v te iNduviigg i Wlildil F:B’lis sittinig for Maonav Bl huat a inint
-~ S < NARd i S Ap Ui avioaivy ol O 2 0m
:} :unuummun ] L”"‘M sitling LCCOmES  ncooccary ’ for
?.:f The National Law Commission % Finance Bill. Y
4_._f The National Consumer Disputes
Redressal Commission ‘% How many of the above statements are
of the above are correct?
N Rodice?
G i aj Only one
Ully vnce = o4
{b) Only two Ab) Only twoe
(c) Only three (c) All three
(d) Al four
‘\c' L G ixa o "4 . . (d) None
6.\;'l<”=‘.ansxder the following siaiements ; \/“\as
\ i ey 3 2 R 7 *iA Deacirtoyrd o ) R ~ v . (
6\\;&’ L. 11 the eiection of the Fresidernt i8. Considgr the following statements :\o(."& WS
fq \f of India 1s aeciarea vuid Uy P‘ \°\°fl 2 ¢ n(\
the Supreme Co}111_rt (})1f India, tﬁn \/{7 nce the Cen ment notifies ¢
acts done by him/her in e W an area as a ommu@Rcserve’
performance of duties of his/her &\

office of President before the date
of decision become invalxd&

os'(ally

Election for the posi “bof ihe
President of India can be postponea
¢ on the ground that some Legislative
Assemblies have been dissolved
and elections are yet to take place.

When a Bill is presented to the
President of India, the Constitution
nres e limits wiihiin which

nrescribes tim

VQ'h’ ’ he/she has to declare hisjher
er assent.
QD‘) How many of the above statements are
'd*‘" correct?
v r {a) Only one
U‘V (h) Only two
AL fe) Al three
None ¢

| XD p GsT/62B
(3

4
\

o
o
* &O‘Y\

v
g

the Chief Wildlife Warden of the
Siate Dbecomes the governing
alpub\’?*\

nunung is not ailowed in such area «~

—esaltlIL

\Q/ people of such area are allowed to
collect non-timber forest produce

people of such area are allowed

traditional agricultural practices _-
——— B

(te

- 5 - - b
How many of the above siateman

-
correct?

- v
~—-

(a) Only one
(b) Only two

\/({ Only three «

@) Al four

[ P.T.O.
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‘Scheduled Arcas’
the following

to
consider

reference
in India,
statements :
“Within a State, the notification of
an area as Scheduled Area takes
Order of

ln~o 3}
place through

President
Jesigent

an

y’l‘hc largest administrative unit
forming the Scheduled Arca is the
District and the lowest is the

caster of villages in the Block.
\P 2. The @CWief Ministersy of  the
X 1 Leoncerned States are required to
,\G/‘d * submit annual reports to the
Union Home Ministry on the

administration of Scheduled Areas

in the States.
Uaw many of the above statements are

correct?

(a) Only onee
&1 Only two

{c) All three

idl None

Coancider the following statements :

Statement-I :
The Supreme
held in some judgement
reservation  policies Amac‘lf:' _under
Article 16(4) of the LousuluuuL  wr
India would be limited DYy r‘u“uulq 335
for maintenance of ‘9“"333,_ of
administration. ¢

Smtement'lgé of the Constitution of

+he term ‘efficiency of

Court of India has
s that the

under

"\S“& LnieGolon, o .
' 4 / Uihick one of the following 18 cox;rcct in
i et of tements:

TS of the above sta

ot t-I1 and Statement-II

Statemen ¢
5 gr(:zu::orrect and gtatement-II is the

v correct explanation for?ta.tgmcn‘t—'l'

fh! Rnth Statement-1 and Siaivinli: =

- d Stlalcuiciiias
correct an :

::)i the correct cxplanation for

Statement-]

is correct
Statcmcnt—l s
Statcmcnt—ll i8 incorrect *
5 ie incorrect
DLatciucas ’

e t
: rrec
Siaiciuciiv I fycomEe

ae

but

but
14y

XDTG-p-GST/62B

o

the -

Base Understandivg”

K

21. Consider the Ioliowing siaicincnis :
Statement-I :

e
g
M India, despite

VO
QVSQ{
/
oGP

el

having  uranium
ite nlectricitv production, -~
Statement-ii .
Uraniuin,
at least
production

to the extent of

w1 ~wa Af the following is correct in

VYV 1A1Caa waaw

- ~f tha o
rCSpCbi o1 g above Siz

(a) Both Statement-] and Statemeni-il
are correct and Statement-II is the
correct explanation for Statement-I

Dotk Qtatement-I and Statement-II

correct and Statement-Il is
! the correct explanation for
Statement-I

\/(9)" Statement-I is correct
Statement-II is incorrect

1)

(=~

(@)

3
o

n
<

»

but

eme is incorrect put

Statement-II is correct

{d) Statement-|

Consider the following statements :

Statement-I :
Mareuniale are not naturally found in

ceern s e (-

... —a

Qa4 + _JI7 .
DtaLtciiciicTie .
Marsupials can

ive o in montane
grasslands with\no predators: \094'(4
e o X— 1

Which one of the following is correct
in respect of the above statements?

/=) Dath Stotamant-I and Statement-II

‘“/ AIVRMALA VAL adaw ae
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II

is
sxplanation for

Aea  Anveant _onr‘ Qtatement-I]

-
Anrrart
ESL83 R SLA S

vt
v

Statement-I

\}{ Statement-I is correct  but
Statement-II is incorrect
(d) Statement-1 is incorrect but

[ T S L L I N

MILCALIAAAL AL A4 AW wNeewwy

deposits, depends on coal for most of -~

P

Pat

X

G Scanned with OKEN Scanner



3. ;;;\"db.l\'\:

develops

Database) belongs 1o which on

j_‘i_@_)_’_‘_.&uﬁcrkﬂl
while £}'ud\,|'»\] ’BoJu'eJ”

X veed fo B B Ahoug
“PCtitT Speninlict

‘roann’ (that
e~ \

Invasive  Species

Global*

: 18s e of the
following organizations?
\J‘/"A‘}M International  Union  far

®)

[ ) B IR ) SR

/AN

(d)
S ous—

Lonsiael uic (ULOWIng

—ra bl
Lulscuivauon of :‘:atu:‘: <

(b) The United Nations Environment

Programme

PR T W ) \

{c; The United Nations World
Cununassicon for Envir

A

Environment and

Development

The World Wide Fund for Nature

FRORVOORS

1. Lion-tailed Macaque }
2. Malabar Civet v
3. Sambar Deer \_"

How many of the above are generally
or most active after sunset?

w hile Shad7 hrﬁ

nocturmal

4o
A

SwL_ﬂ‘dl'ﬂ res

26. Consider Lhe joliowing >iailinid

?\(- 1‘1 Some mushrooms have medicinal

e Qah"‘lr properties.

mmbieen mramert1eQ
AN LA Y W po~ = g° =

roperties.
b ofd P . .
S"'?P 4 Some mushrooms have biolumi-
y° A nesceiit propertise.

How many of the above statements are

correct?

(@ Unly ouc
(b) Only two
(cj Only three

Mii our e

regarding the Indian squirreis :

ﬂ%onsider the following statements

Qame mushrooms have psycho- _~

Some mushrooms have insecticidal -

v

Uy \raay dase Env. & E(e: 1. ‘They bpuld nests Ly iuahiug
(bj Only two oulk o j, (un‘os»}'7 burrows in the ground.
fc) All three +m,, we yead 2. They sto:e thiir foo:ihmaterialds like
i nuts and seeds in the ground.
(d) None /3“&‘ ‘h’““’(-s ¥ h‘(,&'\
- yeg o L27 They ore omnivarane fm .
bul~ durirg P easy - (?ee““’\-" e
. : nisms perform —
&Y. Which of the follf}winﬁt;rcgfs of th::ir kin How many of the above statements are Q 3
\vaggle..dance“AQ direction and the correct? —
o ndicate 1€ SIEL L food? Pbe
Qistainc o v (bm\‘(‘cve /rb) Only one (/qrm‘ A Au[h I‘
(a) Butterflies : Yt
. V;bb“ (b) Only two \ % o
(b) Dragonflies : b R AW
e {n‘ri (c) All three ue P .
(c) Honeybees eoh re
=2 & \ 253' {d) None P
i Wakps e @
11 [P.T.O
XDTG-F-GsT/62B
N
|
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28. Consider the following statements :

ome microorganisms can grow
in environments with temperature 7
ahave the bmhnv noi int of water,

) \_ﬂ/ Some mu.roowamsms can grow

‘NO/O Vevé in environments with tempcrature
below the freczing point of water.

{ 7 Ror® /‘\&

onsider the following statements :

1. Jhelum River

Wular _Lake.. —

passes through

2. Vyxyhrw River directlv feeds Kolleru
.ake.
3. Meandering of Gandak River

formed Kanwar Lake. 0Xlew |ake .

Qj‘\j /" Qame 1"mmnnrganmmg ran  orow How manyv of the statements given
57 ,/W n in highly acidic onvironment with above are correct?
2 pH bhelow 3, v .
| W i (a) Only one
| (3
! Q;[.,Q g How many of the above statements are (b) Only two
‘ meg correct? e All three |
B
{a} Only one {d) None :
l TR (b) Only two %oh‘ “32. Consider the foliowing pairs : \!
| ’ ' b {
\ R s All three: \«goo\v"“ Port Well known as
4 [d) None 1_Kamaraiar Port : First maijor port in India
registered as a company
S ! nn s s of tha fallawwving makes a tonl -~ .. . - . - " oy -
i A ‘ 2. Which one of the following ! \z/wﬁnara Port : Largest privaiely owned
: with a stick to scrape insects from ort in India
Sk \'a . f wood? P
o' a hole in a tree or a log of wood: e . ‘ ‘
- ./R ver «1 (ke 3. Visakhapatnam : Largest container port in
XOQ (a) Fishing cat é) S [ e Port - India
i | . M : }s\nafe
| i Urangutan o
\

{c) Otter 2
(d) Sloth bear

=

veo

\ Y
Only one "({A 1 OLUC‘V‘
Only two af/ sv(‘)"
Cnly three ® ‘

2

How many of the above pairs‘ are }
correctly matched?

(a) Only one pair .

|
\_/(b}/dnly two pairs ‘

ow many of the above are deciduous

trees?
A one

(b) Only two
{c) All three
(d) None

. 9U. Consider the following : fc) All three pairs

1. Aercsols R NS {d) Mcne of the pairs

: 2. Foam agents Q’:) Consider the following trees :

t; 3. TFire retardants 7 LE Yz\‘/‘-iv.\ Jackfruit (Artocarpus heterophyllus) <
E, 4. Lubricants vt ZipAvidiiua (Madnuca indica)  —

k Q)\ﬂ‘ 2( Teak (Tectona grandis)

E

%

2

*3
=3
[¢]

Fr LPrc
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ﬁ v vy
o Indy

 irrioated o % poer'd «3@»‘0”“1 ‘

i

‘.u . COMVaT e . \
(‘\‘D\D T CLmq hay WM \me ‘ pdat th‘f’( uw‘rﬂ
3 o e Droductivitv e I red . \e\/e,w‘
\D ‘L ‘Yf noindian aprn ‘erH" ‘GWA bM‘c
g tlhat } |
& \/o\\w han that m China ] frilow
; )
bbgt b3 . ' the above statements 3

/ﬁ);«f'ﬁ D1

Oply WO
At three

Ny
i Y0

y A

Ise 1G

nd?
Bhit g kanika

siarakkanam

! Naupada Swamp

nd rutile,
coastal tracts o

of

vl | el
LOUTCES
Jowing?
A indum
T "t"(‘r

G bron

\/'s!.mimn

gt threer

() Argentina

; Rotswana
Congo

(ci) Koazakhstan

XDTG-F

8T/62B

Upendra Singh IIT Delhi,

of the following
ot yL‘an_it—(_(L inlls
present-day

Aourths

3

o . metal requured

(VP  hatteries for electnc
- nroduced by

‘/'}1' l)z,rnm('rznic

4”,

alarr

wmam X

the
7

. Lhe . |
1s the best low  many of

sea level Jhoveare tmz’u

Oniy one S

gwst'o POTETS

!(’H
Mangroves ?0 (\k 4bp Only W;()\A %,eo\'yuf‘"] ,
Salt Pans be te) Al three h
\J"(ef& 'kf /u ne '
T A:‘i:' Y‘pH] 40. With relery nee 0 e Tabic i
connectivaty, GOYISIE t

abundantly available . ;
statements o

{ India, are ‘ :
{ Fast-West Corridar et

which  one of the Sl o i :
h A qv, ( yuadrilatera
FD,DV/‘ c&(" (,gLP \L ’ba Hibrugarh and Sural
sy 7 .2 Trilateral High%as 0
VoV ¥ i _Manipur anH AT
4 a,\S' ,& Thailand Wa Myanmal Con Fu OV
AN €Y ov* = Rur
.Cfrbwrc’ \/“ ‘hHlukx\ Ct Ay anma
S ?@U {r?et'\fe ; \(&\\Caya F.conomic vii m?ﬂyﬁ
of world's cobalt, \aranasi 1n Ve y N
for the mauuﬁ\rturt Lum*‘dux\xtxll\lll«' in China eﬁe:"ec
motor \chu e How many of the above s g
[ L‘" correct? \ A\ fxef”

w%‘ﬁ"

"“"‘1 (@) Only one 63\(0 \_\0‘/\
v X (b) Only two D{xo
qubhc (2 % (¢] All three 4«""SQ Q‘d
o) jdy Nowé o\
ua :
we ®

r &7,
v
el ?
.MENTORlNG +91-9971030052.
Asso. Policy Making UP Govt., Teaching career- Higher Studies since 2013
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28. Cons:dcr the followmg Statements :

W et
[ Bt

q 31. Lonsider the following statements :
| > 3 o . o
L SO0ME Microorganismg can grow 1. Jhelum River passes through
' y .
o e ”: Cn\n;omnmns With temnerature Wular Lake., - e
annv 1 SN . -
b R m{& anave the boiling naint of water, 2. Krishna River directlv feeds Kollery
Al ~ .
f w2’ Some microorganisms  can grow \'ﬂ/kc
\ 3 vq e, . . .
N,\U/D Wyt in environments with temperature 3. Meandering of Gandak River
b below the freczing point of water. formed Kanwar Lake. 0Xbew [ake .,
\}-/'_Q"““‘_’ ‘ "“if‘i‘ﬂnr'gm\imnq can  oraw How many of the statements given
™ "/YW g ouighly acidic Snvironment with above arz correct?
e ¢ 2 pH helow 3. v
Y b (a) Oniy one
[
Q,'I-'Q/ How many of the above statements are (b) Only two
Q"'X" correct? \_ﬁ)" All three
i} Only ons {d) None
S v . .
™R (b) Only two %oh‘ 32. Consider the foliowing pairs :
| All three » )
5 \_)(;L All three \ ) Port Well known as
/) None \I/I(a'mara_iar Port : First maijor port in India
registered as a companv
S— T =2 of tha TAllAvinng ke R &
LS :9 \‘,.‘1\.31 onc uf Lh\, f\/l‘u-~...° :"na!‘:es a tonl \,.Z/iviﬁ'ndra Port . Largest pnva'u:]_y O\Yr‘éd
- \n with a stick to scrape insects from port in India
¢~ 2 hole in a tree or a log of wood? wel '
- ,(LQ JC"1 Chor 3. Visakhapatnam : Largest container port in
koQ (a) Fishing cat g gl Port . (= India
: N0
tan n y ¥ . "
REn g {'a ho” How many of the above pairs are
[c) Otter »

e =

SU. Consider the following :

(d) Sloth bear

—

correctly matched?

(@) Only one pair

Mnly two pairs e

fe}  All three pairs

.c {d) NMNecne of the pairs
& pY)
i 2. Foam agents y Consider the following trees :
’ 3. Fire retardants Le Yc\Y‘-(lv.\ Jackfruit (Artocarpus heterophylius) <
{ ' —_— . mie on N
! 3 Lubricants Qﬂe < vialiua (madnuca tnaicay
] . ubr
E it MA%{—V‘ Teak (Tectona grandis)
) any o1 uit asov '
f .r In the makingof how " W OW many of the abov iduous
% \)_“,\ are [iydrofluorocarbons se;l? Q’\"‘/ § Ye sl y above are deciduo
| e et omty
XOR%/S’“VJ (@) Only one (f‘) 1 M Only one

(b) Only two

{c) Cnly threce *

\J/)' All four

Y

THU-F-GST/62R

(b) Only two e
(c) All three
(d) None

*3
=3
(<
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~
w ™ ¢Bt
e \'\“W umdf{ .
A Consider
sider the followin
Statcmcm4 : g statements :
] .
nterest income  from the deposils

in  Infrastru
cture Inves .

InvITs) distri estment Trusts
(L‘Kclll}?i)(,d‘ls-“ ibuted to their investors is
) *d 1om fax \ >
taxabie. » but the dividend is
Statcment-11 :
InvIiTs are r .

o C 1
OO“W under th "C(:OSH}ZCd. as borrowers
o ¢ ‘Securitization and Recon-

cterviate
Sacu

on of A
Asscts  and

X Tevnea maa )
Anacuiviian
SYATa T R
Which one of the following is correct in
respect of the above statements?

(a) Both Statement-l and Statement-II
are correct and Statement-Il is the
correct explanation for Statement-I

bl Roth Statement-l and Statement-II
are correct and Statement-Il is
not the correct explanation for
Statement-I

o(c) Statement-I is correct  but
Statement—il is incorrect
L‘/o/q;; Silatemciii is incorrect vutl

Statemeni—il 1s correce =

—

N .
v \00» ‘orr’Which one of th
!
N
A

W

42. Consider the following statementij LofHM’

“es |\

Lc)\ Statement-I : . _
N In the (post-pandem recent past,
* Vf\ many Ceniia Daiins worldwide had Y
)(‘P’.{\ carried cut interest rate hikes.
Qa Qigtement I i
\0(,3 Central Banks geperally assume t}ta;lat
they have the ability to co'unteractt e
rising consumer prices_Vvid monetary
.V .y policy means. = _ -
rm
707’\ ‘(’( Which one of the fOIIO‘f’f?_g_:fﬁ?';rcc
_(5 respect of the abuve DL&L'.::.:%JI'U,-» .
L Statcment—l anu olalciust 11
Pb \}, Sroctiorrect and Statcmcnt—l[ is thle
correct explanation fors:taltcmc:tt—"
- d Statemeni—
Statement I an ]
® f‘Bro"m""rrcr:t and Statemcr:lt—ll fx.:
;101 ;ﬁe correct explanation o
Statement—l
i ct put
(c) Sf.alement—:I 'slﬁucorﬁggc
Statement=11 1 : -
(d) Statement-] is u::ctor‘rcct
Statemem—ll is corre
e

XNTC F-us51/62B

\e

\V

43. Consider the following statements :

Statement-1 :
Carbon markets are likely to be one of
the most widespread tools in the fight
apainst climate change.

I

TR & B

POU i ke can o
MLALL AL ar .

Carbon markets transfer resources

.U from the private sector to the State.

correct in
2

onto
i

b

e following i

ntrt
oLat

f
o
jaj DBoth Staicmcnl [ and Staicinent=ii

are correct and Stateicnil is uic
correct explanation for Statement-I

\(b)/Both Statement-I and Statement-II

4 ~F 4 ~k
€spect Gr uil aclVve cm
’

¥,
0

are correct and Statement-II is
ot the correct cxplanation for
Statement-I

(¢j Stalcmcnci 15 cuticul but o
Statement-II is incorrect

(d) Statement-I is incorrect but

Statement-II is correct

44) Which one of the following activities of
the Reserve bank of india Is considered
to De part oI~ on 2 ({O\L\»“ ow

_faf’ Conducting ‘Open Market
v Operations’

ANG o
W
Q},s (b)

o

Oversight of  settlement and
payment systems

Debt and cash management for the
Lentral ana State Governments
Regulating the functions of Non-
banking Financial Institutions

{c]
(@

Consider the following markets :
1. Government Bond Market )

Treasury Bill Market

1
Stock Market \/

How many of the above are included

45\&

VY
¢&

Nl A Aaen v LY P P
—- o Cas avavassy svasas vt

3.

»

in capital markets? oy
(a) Only one e, .No ) \,
(b) Only two l=to™ . QO«Y
(¢} Only three * Sm\‘ A
fd) All four “M(S '\1”\
V) V¢S\‘
PV@J'Q, Byt
‘l‘ —
Au ch &‘J ave -
57, $) .

5,

(,"'nte n

v

X

\4
AR

o,
v
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Just Pl e cbsw

; M"—“ ane of the fallawing hest deseribes
/ of QA B

the wuiclpl Parmer laroe

v of pcqpl(‘, uprooted from their

countnies duc to war, by giving
‘ them a large culuvavic land which
they cultivate collectiveiy and shaic
; the produce

L)’b)/!\lan_\' marginal farmers in an area
organize themselves into groups
and synchronize and harmonize
selected agricultural operauons

i
Ficia
Resett - | y g
(@) ettlement of a large number

(c/ Many marginal farmers in an area
~ together make a contract with
a corporate body and surrender
their land to the corporate body ,
fixed term for which the
; corparate bodv makes a paymcut
of agreed amount to the farmers

far A

= 1 ¥ ([d) A company extends loans, technical
lg knowledge and material inputs to
ma a2 number of small farmers in

~n area so that they produce the «

acrienltural  commoailty 1cguired
bv the company ivs its
manufacturing process and

commercial production

qutonsider the following statements :

) mc Governmment of India provides
“ inimum Support Price for niger
(Gurzona abyssmlca) seeds.

\_y]\/)gcr is cultivated as a w

~ennle in India use

/auu:c__._.,._/_ﬁ..._‘q—(——- Ki
nmges DM'I")G INg- ‘./

e abovc stdatemenis a

|
o

How many of th
correct?

(a)
(b) Only two »
AT AN three

(d)

Only one

None

XDre .
= Y-ud1/02B

48.

49.

50.

How many._ of DOVE_aic COnlit?
o T _the above «

Mot~ Only three

\1
d all Sk
Cavefuy

Consider the investments in the following
asscLy . -
1. Brand recogniuon /

2. Inventory
3. Intcllectual property
4. Mailing list of chcnto\_/'

Anv-nrl

(@) Only on
(b) Only twoe

/4) ANl four

Consider the foiiowing :

Forest and ecology

Ccvomaonee reforms

:/Stable goverruuciic
Tax and fiscal efforis ¥~
For the horizontal tax devolution, the

Fifteenth Finance Commission used
how many of the above as cn’tcn’a

[ T T ——

distance?

(a) .Only two
\Jb{ Only three *
(c) Only four

i) All five

SOy it
Hurasu ...-'...‘.l 3

%
«

Consider the
ScClors ¢

1. Affordable housing

PO & TNt S
luvnuwing

Z
)
fn
X’
"«3
3
%,

2. Mass rapid transport
3. Health care
4. Renewable encrgy

e
G
)

On how many of the above does
UNOPS Sustainable Investments 1n
Infrastructure and Innovation (S3i)

initiative focus for its investments?
(a) Only one
(o) Uniy wwo
(¢c) Only three
All four »

[ P.T.O.

L
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Nbuk"m'w(‘)rk
51. With reference to 1
the following sta

i. Home Guarg

S
the C

to serve as
the  police

an
n
mal security.,

e Qy.AC\')Q\,

w P F 01O
hmmuﬂh,Lﬂlr'

Tome Gy

tements .

ards, consider

are raised under the
¢t _and Rules ofx

he Home Guards ig
auxiliary force to
maintenance of

N} Drovent

7[ M naional Lordar/eaastal areas
the Border Wing ,

have been

Battalions
some States.

) P - 5§
HO0W many of the
coTTects

A Only one.

(b) Only two

(c) All three

({d) None

AARATS ™

reference to

following pairs :

Action

of police or military
uniforms

L.

9
or otherwise intftr-
fering with a police
officer or milxtar);
vihicer whnen 5CC
y~their auues

—

engasto

&

o. Celebratory
which can endanger

the personal safety of

Cthicrs
How manuv of
corrgqtly matched
L,kﬂ/()nly one
(b) Only twoe
fe) AN three
(el None

ADTG-F-GST/62B

Unauthorized wearing :

2. Knowingly misleading :

gunfire :

infiltration on

the
Home Guards
raised in

v

Y mpam o
ALUOVe slatements are

L

India, consider the

The Act under
which it is covered

The Ofiicial Secrets ? ?
Act, 1923 ¢ -

qrC
The Indian Evi-

dence Act, 1872

. The Arms (Amend-
ment) Act, 2019

i

2

\JBOY\/O\(U\\’Y?VJ/ a/)g&

53. Consider the 10H0Wing pairs -

mentioned in news

o U7 peviesd SLfNagomo-Karabakh'

North Mive and Ituri : War between
Armenia and
o Ud Azervaujaii
: Insurgency in
Mozambique
¥hereon and : Dispute  between

Regions often

in news

7aporizhzhia  israci und

Lol

Pu

How many of the above pairs are

correctly matched?

{a) Only one e
(L Cxnly twa
(c) All three

\/(g}/None

Reason for being

lobhanon

o<

Wwodd  Guyren v Atais

Consider tne iviiowing ctatements :
Statement-I :

Israel - has established diplomatic
relations with some Arab States.

Statemcnt-1T
The ‘Arap Feacc initiative’ mediated by
Saudi Arabia was signed by Israel
and Arab League.

AL T4 RPN
YV Liiai

one of the following is correct
in respect of the above statements?

(@) Doul Siaicacnt I and Statement-]
are correct and Statement-II is the
correct explanation for Statement-1

/
%’ﬂ % Both Statement-I and Statement-II
C“ Y{ewr L le,/;": correct and Statement-II is
bove paire nare not the correct explanation for
;w av Statement-I
(c) Statement-]l is  correct  but
Statement-lI is incorrect
(d) Statement-1 is incorrect but
Statement-II is correct
X* .
Con be cnflicked
21 [P.T.O.

N Ovidu o lafey .
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/ S e
/
r'/.
Purmens g yen el
/
Con51dcr the following pairs with regard 57. Coneider the following pairs :
to sports awards :
jor Dhvan e - F . :
i r\']'aj?rnn'n.n A\\(':a]:-’:ind . For the most Area of conflict Country where
Ries 2L spectacular and mentioned in news it is located
(\“lts'?‘]\dil\q ner- '
h . : N
formance by a K i, Donbas DL gyrin
Sportsperson  over
period of hqt fom 9. Kachin (\,\‘M :  Ethiopia
\cam
2. Afuna Award : For_ 4Ahe lfclnn~)c 3 Ti ' : North Yemen
! . igray CMD(A : or

achievement

w

a sportsperson
.Mwmya Award : To honour eminent

coaches who have /
successfully trained
sportspersons or

How many of ihe abcve pairs are
correctly matched?

teams _
Rachtriva Khel : To recognize the fn) Only one
rotsahan Puraskar  contribution made g
Ae’ (@(PW\ ( by ~—Sportspersons
_ bDA,,'pA' even _ after __their (b) Only two
Qefﬂ“ . e T retirement

How manyv ol e auove plire are

- 3 = (&
correcudy matchear? el
—i&+ Onlyv one

(b) Only twos /me

(c) Only three

idl  All four WU"A C‘W‘ “'

AN thvaa
FRVIR G quia

S6. Coneider ihe fcllowing statements 1n 6 In the 1cicnt yoore (‘hgrl Gninea. Mali |

W respcct cf the 44th Chess Olympiad, and Sudan caugini thc inlernztons!
«OVC\ 2027 - attention for which onc cf the following
. was the first time that Chess reasons common to all of them? |

Olympiad was held in India.

;/4/5‘4 9 The official mascot was named |
\/::mhi’ s e TN

The TP 1 ehon i the Vera
l‘: e -

in the opén section ! : s

Menchik Cup. \

@ The trophy for [he il T (b) Establishment of Chinese uulitary
in the women’s gection is the & o
1o ian-Russell Cup.

‘e 5 ements given
How  many u.r>‘<"f" stater &

N Rt .
ahove are rorrect? P ~ A k4 (¢} Souinhward cxpansion of Sahara
o 90y fnchen B

()nly one

(b) Only two # &ud—a '1r
ft) Only three Ad} Success

dl AN four
would hove \
*DT6-r_57/628 \ef ¥ b H
q ub! bH,(/V"PH

on &

tPoro

G Scanned with OKEN Scanner
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59, Consiacr the

followring

1. Fertilizer plants

2. 0Oil refineries

3.

Steel plants

reen hydrogen 1s expected to piay
a significant role in decarbonizing how
many of the above industries?

(a)

Only one
I (bj

'C./A'l'.x ulilce o

~—
(d)

Oniy two

None

B e

U, i 5

onsider the iociiuwiiig statements anowt
[ \,e‘ 1-20
= et

N

Finance Minisiers and

tc discues the

Bank Qoveinors

2UPR T8

international economic ¥oted

financial issues.

lw public infrastructure is one
of India’s G-20 priorities.

3
!
"

-

Which of the statements given above
is/are correct?

(a) 1 only
U 2z oniy

\/(Q/B'oth 1and 2 2

(d) Neither 1 nor 2

Yo~
HI-F-GST/62B

e

€1, With rafaranca ta the Indian ”igfnr_v.
/\]_g(_gndcr Rea, A. H. Longhurst, Robert
2

ﬁ,,) Sewell, James Burgess and Walter Elliot
% were associated with )
\

Ry

,(e\ y

(bj esiablishimicnt

-
o

archaeolggical excavatuirs

Coionial india

‘o\w’\
. A“ﬁ(c)

establishment

L of Churches in
\ )
\°% Princely States
/1) construction of railways in
Colenizl Indis
62. Consider the following pairs : \ Uth)’-H

Pyt v twheve Loy leve
//Site/' well Known jor
favun STuwbh @ Krishne
,\75. Besnagar : aivite cave shrine
—
L’z/E-hﬁja
\}/Bﬁnavasal :

: Buddhist cave shrine

Jain cave shrine

How many of the above
correctly maiched?

pairs are

(a) Only one
\.(A;ly two

(c) All three

(d) None

[ P.T.O.
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onsider the followi i
Ng statements : 65. Consider the following statements 11 :Dhbm .

yﬂé‘“_‘ - ex‘)( C'-\! éY‘j}%M s respect of the Constitution Day :
/u 5 B S ,

. . i ,
] MUERUOL 10 ULy n i
i " larcu as e iNational Sigecniliit 1 -
HANAQIOOI LAy N sess . . ~ : 3 3
< ,1- PL’ 9,- ﬁY‘G\ N Ve Consiniunoin wvay i coiguraite e
\ .1 h-\ Nl Navamher every ve,ar
P(ep - 2640 NCVEIiwLs ~e=ty ==
[ala)

Sta ent-I1 :
505 netitntional values amon

It was 11 1903 that the Swadeshi

g citizens.

~  Movement was launched on the same Statement-II :
day. On 26th November, 1949, the
Wil ﬂcn:ﬁ’_!}_ep’_ Agonmhlv nf lnrﬁa Sﬂf uo
Uhich one of the following is correct s Drafting Committer nnder the
in respect o1 the above statements? Chairmanship of Dr. B. R. Ambedkar
\//p{'/’Rmh Qtatement—l and Statement-I1 to prepare a Draft Constitution of
are correct and Statement-II is the India.
correct explanation for Statement-] Which one of the following is correct
oy DAt QintomentT ond Qentomant-IT in resnect of the above statements?
mva AoTTad 531 io sy Tvoet Cimdoooemt T el oy =mant—1I
Cadies SESEAMINTNEIS Sad e o ey (VIR VL tailCIiiCiae 4 wan uw-v--n:- -----
not the correct explanation for are correct and Statement-II i the

correct explanation for Statement-1

(c) Statement-l is Correy but (b) Both Statement-I and Statement-II
Statement-1l is incorrect are correct and Statement-Il is
not the correct explanation for

Statement-I

ldl is iz—gr;rﬁxrv‘nr‘" hnt
Y e rorrect Statcment—l
\_{9/ Statement-I is correct but *
ements 1in Statement-II is incorrect

64. \Consider the following stat s 1
C{“ respect of tne NoED Odzgxon? I;S‘;: (d) Statement-l is incorrect but
’ Statement-II is correct

n Q;Saccording to the
2002_
k.{?.n — @ Aoidaw dha fallassdo~ ctatements !
otatclnent—i . —OTLITTe wei ewmem et B I e ’ X
% ine  of the sinpdaid  SECS of tatem ) "3"‘]‘\‘ or 55\0\ YPQ“""‘"
\ Ahe National Faa of India 18 PR = i T ‘{’
\Qthe Nationa: =5 . \n wiilzeriand one of ine lcading -
vﬁ’ 6500 mm ¥ 400 mm. y b|’f‘ founs T aale evportere—cfgold in terms of value, el A
Q_,P i) _— -}’\3 e""“ h o
Statement-II : the height Statement-II : hulk
\f The ratio of the length to 3?2 C‘B, Switzerland has the second largest
W (width) of the Flag shall be'k'- gold reserves in the worl . vcvh?—
Jz STLE. L1 fellowing jin rorrect it ~m2 oFf 2he following ;CC\"/
wwatiL)) ONIE 0 vIe ORI A L R o wv 111041 UMC w2 wic 1vuuvuwiil 1> v (LY §
B V~ In recpect of the above statcmcntS? in respect of the above statements?
wV Im Beoi, Statement ! and Statement-Il : /n) Roth Qtatement-] and Statement-I1
A are correct and Statement-ll is the are correct and Statement-II is the
Ve correct cxp]anation for Statement-] correct explanation for Statement-I
d Statement-II (b) Both Statement-1 and Statement-II

are correct and Statement-II is
not the correct explanation for |

y}\lk (bl Roth Qtatement=] 2D

are rorrect and Statement-il 18
not explanation 1or

not the correct ot e o
Slalcment-—l owalliiine
\’)’VV Statement-I 1S colicui but %) Statcment-l is Cuticet but
Statement-11 18 incorrect Statement-Il is incorrect
incorrect  but (d) Statement-1 is incorrect but
Statement-Il is correct

(d) statement-l 18

e et

o, r
—iatcieieTa T i

Yn
o
: 5 l P.I.O.

F-Gsryen gr, k
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67. Cunsider the following statements -

Statenicnt I : / ‘1"“"“ of the countries of the v~
The USA and the FU eclaim that European Union
/:7 uncugh thie thev are trying o ining @ makes  the countries  of the
‘J\.O\Q technological _progress and physical Y Ffuropean Union to share their v
productivity -Unlrol' . A )p"h infrastructure facilities
-1 . 7Y ( , -
\%F, Which one of Tollowing i COIﬁ'”CCl p @ cnables the _countries  of the
_in respect of the above statements? Europcan. Union to share their Vv
' S ) technologies
o (aj Bolix Statcment—1 and Statement-I1
are conicci and Statement-Il is the How many of ihe above statements are
correct explanation for Statement-I correct?
(b) Both Statement-I and Statement-II '
are correct and Statement-11 is ¢ ‘@/Only one
Nnot the coircct explanation for
Staiement { (b) Only two
_/kf/ Statement-1 1S coiTact hut {c; Al three ®
Statement-II is incorrect (d) None
{d) Statement-] is incorrect but
Statement-l1l i1s correct
_ _ . , o age e RO Ty . i 1 atcments
68. Consiacr the following taf?mentsb: P #0. ‘consider theso E Sfaltmen
Simt nt] - =t P‘W" A 8.2 i, Recently( all Ahe countries of i
?Cme : " 3'20/\1%1. 1 b.l . ‘7) Tinited Natidns have adopicd the
ndia accounts fo o ol globa 4 fi . il N\
. f coods, e——— C }ﬁy. irst-ever compact tor mnwciuaticnal ) \
xport ol g : /\/L’_’q\l\ ot gul el migration, the ‘Global Compact
Staterfient-II : _ x {‘ for Safe, Orderly and Regular
Many local companies and 70:;_16 nev o Migration {(GCMj)’.
foreign compaics operating in india \,/Aa* 2. The objectives and commitments -
- desantnoe Of India’s \ ! o T N
have taken advoni=Zt o SHome \N’u stated in thie GCM are n
‘PrOdUCtion_Mtwe S ' % C"{d the UN meiubesr cocuntne T
Which one of the fo]low:ng is ctc;x;)rect \)CCM\o 3. The GCM addresses @. e rad) >
in respect of the above statemen '1\,, migration or internally displaced "\~
Both Statement—i and Statement-II W people aiso in its

XHTQ_ ™ Aemrenn

Statemicii-l
Recenuy, (i United QUatac af Amerien
(USA) and the European Union (1)
have launched the ‘Trade

Tant . 1
Technelopgy Council’.

and

{anl
{4

wad W

atatement-l is the
f~r Statementi-—i

are correci and..
correct explanauvi
Both Statement-] and Statement-II

G9.

AVE VY \./

) are correct and Statemcr_lt—ll fis
not the correct explanation lor
Statement—i : e

lr)  Statement—i 1_3.““;3::%
Statement—11 13 aBESTE -

) Statement-] js incorrect
Statement-II 18 correct #

29

4NV vase-

‘

Consider the fon

I'he Wabihty and G ‘ Pact’ of the
Furopean Union is a treaty that
A7 limits the levels of t

he budgetary

ohiectives and

FyaNy

cominitments.

now many of the ahove statements are

correct? Had - iJCQ
{a) Only one o X
Mo'A
(b} Only two abow‘— . a“
{¢j All tiuce \o gpt T

None

G Scanned with OKEN Scanner



ider the fo
73.

Diiloaria
gar

-

Czech Republic ‘Kf_

-C M -
oA \\or "\o;}"qaq

Consider the following «¢

B s
oYL LR I

Stater Yy !

1N nutrients,

:;m/#ﬁ:nhll :
‘he high temperature and m

oisture

3.  Hungary \/
of tropical rain forests ~ causc
" $ b Asnd Ligasnu nauer n the soil to
R decoimnposd Ry
5. Lithuania ‘{' Which one of the following is correct in
respect of the above gtatements?
6. Romania/ (a) Both Statement-T and Statem;nt-—ll
are correct and Statement-Il 18 the
rrect explanation for Statement-I
How many of the above-mentioned f) Both Statement-1 and statement-II
countries share a land border with are correct and statement-II is
Ukraine? A not the correct explanation for
Statement—]
J ') 01‘1]}' two /‘:\ Statement__! ie . r‘nrre(‘t bUt
' gtatcmentI ic incorrect
(h) Only three R s but
Ve (d) Statemeni-i 18 jmcorTcct Ot
{c) Only four Statcment—l] is correct 3
(dl Onlv five ¢
Consider te joliowilg siatcincnds -
Statement-T : P
The~ tetnperature contrast between /
). With reference t0 the Earth’s atmosphere, Sntinents and oceans 1S greater
which one of the following S ents is during summer than in winter.
correct? o\ Qtatement-II :
(9‘ K he specific heat of water is more than ~
£ Hon that of land surface -
t 11011 :
(@ The total amount A% ’mm;l‘" . e S o
received at the equator ! ‘}"‘3“ Jt P Which one of the following is correct in
T about 10 times of that received @ respect of the above statements?
es.
the pol (a) Both Statement-1 and Statement-11
oo roughly are correct aud Siptesacas M i 58
3 -AVS con'jll uLwe +v=—o 7 - . X 4 a0 taaw
/m) }(:vfgatr}fi(:dsl?fbinsd'ﬁon' correct expianaiion for Statemcnt-i
' ( Both Statement-l and Statement-ii
(c) Infrared waves are largely absorbe.d are correct and Statement-ii is
by  water vapour t 18 not the correct explanation for
concentraicy in the lower Statement-I
’
( almosphere. (c) g:atement—l 1s  correct  wui
i eute atement-1l is mncorrect
" rt of visible .
in waves are 2 part ~ s .
»Gj’ ! fratred e ectroma gnetic waves (d) Statement I s incorrect but
pectrum of € \ Statement-II is correct
of solar radiation. \Q (4
07(\}5(' g\(/’ Tha expland hr ~eq Afre -
XN
TG n 31 ';, % 4 P
F‘GST/SQB ? ."9)‘ W \)r wal [P.T.O
T W r?e(‘}ﬁ
RYC IS0 F"‘
8
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LLIC lU“U\\ iy

QP’\ o\
o

staicimenis .

In a seismograph, P waves
recorded earlier than S waves.

Couaiuc.
x J7 arc
In P waves, the individual narticles
vibrate to and {ro in the dircction
of wave prnpagafinn whereas in
S waves, the particles vibrate up
and down at right angles to the
direction of wave propagation.

Which of the statements given above
Is/are coiiect?
fal 1 onlv @
(b} 2 only
ﬁ Both 1 and 2
/) AT Altlenee V1 emme D
(L) P A i [ A
,C, Wit roferones to oozl bosed  thermal
power plants in India, consider the

(\Q

an

ollowmc statements :
A

none of them uscs scawate

None of them
waler-siressed disimct.
None of them is privately owned. o«

is set in

"'«'r
How many O
correct?

f the above statements are

(b) Only two
(c) All three

Mone
lanri

"--uludbﬂld incth!
"A-oﬂl‘ﬂ f

QUUUL WILLI. PEoytergerey

the following?

is qo‘ﬂchmf:'* fa]ked
~ which one ol

k'\ﬂ/c‘ontroumg the wviral discases
spread by - ™
(") ) Converting op res:muea into
ﬂ\ packing material : |
. plasucs

Producing biodegradable

thermo-
Producing biochar f’?”;m mass
chemical conversion &

(c)

“r-GST/62B

£

33

78. Consider the 21, W ing acuvities :

\ot

ol

(_}/

Spreading fincly ground basalt rock
on farmlands extensively
Incrcasing the alkalinity of oceans
bv adding lime

v

Jiu.&;l_:v e C:Caecd

3

Capturing ecarhon

h\l varinne induastsioo 0 Pu‘“}““g
\ 1t into abandoned subterranean
«U>“\ mines in the form of carbonated
waters
r%"" any of t!"e above activitics arc
often Cunsldb and discussed for
carhon canture ;md semiestration?
L — e —————
(a) Only one 2
(b) Only two
(¢f All three
{d) None
p best refers to
Aenal metagenomics’ es

79.

N

Which one of the following situations?

ollectmg’ samples fro
in a habitatat one go

ersianding the genetic makeup 9
vian enecies nf a hahitat

n

-

nde
f

\

[b]

Using air-borme devices to collect
samples from moving

A~ s sk
& Inacclessions

plant and animal
land snrfares and

Ay
i VviIIVYD
collect
from

(a) Studymg the evolutionary

') i uzau\.ua.uk 3 E=krsterst=] Yarious
oyc\.u.a of fauna

%} Stimulating ‘stem cells’ to
transform into diverse functional
tissues s -

{cj Promoting clonal. propagation of
horticulinral plants

(@) Assessing uic ciilcacy of drugs Ly

conducting series of drug trials in
a population

{ P.T.O.
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Consider the followin
. . s g Stal .
relation to Janan Cments

. in .
1 Surakeha Voaiae. . 83. Consider the fallnwin. _. .
. o ' ‘Bimme Ttte wuarciments
I LS A NAde- lgy_w'v}nr'qr)r\ri 1A : NG
} ~& [ B Q. V\.“\ g “‘Lk‘lve“i]()]] \OW\
\u“ of the State Heaq, Departmentg, hoACarbon fibeog used in the
cbb\?/‘lts objective

»

18 1o reduce m
mortality

manufactiye of
in aut i
and neonata] Omobiles a

'y \,( €omponents used
aternal g(.\‘n g
\

nd aircrafts.
among poor
y pregnant w
g omen, e O-Q wa2:-  Carbon fibree NTT Ut Cannut e
\}/"? alme  ¢a DTOIMGEn  feeats, .- . - \( recveled
A o PTCinoic ishiinnonag v )
delivery AMONe  none el Lo (AY\\‘\ 5\‘
\/\\'omcﬁ com l“bﬁ“um/ 0> \“1)’ i
‘L& . Rty Q ‘L') Which of the statements givén above
\uv(‘n' Its objective includes providing ‘,tb is/are correct?
public  healty facilities to sick ,
MY RN v , =
taanes wp w one year o1 age. \X lrs 1 anle: -
A ZF 71 only
How many ¢ S e S S .
5 {8} ekl el the StalCimentis given
above are correct? (b) 2 only
(@) Only one (c) Both 1 and 2
h) 2 Onlv tara
J . /A) Naithar 1 o s A
] MNea Voo [ L - . . B
o iy uiice 2

fd] Al four s

82\Consider the following statements

in
the context of interventions being ) Noso-wio oo __
. 4. AscLeC v v wau i adiiy curusuly
\\‘\ undertaken  under Anaemia Mukt I <
«r v e e ; Wit LCOUILS
\')\ bBnharat Strategy : &

11iC1 3 in ine (j(‘tp‘ll)_y!!l':‘!’!‘. oi 7
: airbage almaost instant.:mecusly
N\ 1.t provides prophylactic calcium

supplementation for pre-school

2. Detection of accidental free fall of
S children, adolescents and pregnant a laptop towards the ground which
J v women., results in the immediate turning off
;)‘Q‘)\n/. Tt e o mmten ign for delaved of the hard drive
\ =7 4L Uuns o czmpalg Lo EEeEl SN
\ d clamning at the time of child- i ~ ) o o
,\\'(\»3\.( ;ﬂ;&) Sampmg 3. Detection of the ult of the sSmart-
1 ) o e orle 3 -~ ARS = - ~
i« . : phone which results in the lotationn -
. : in . :
- ('{x\ 37 provides for periodic detwsorm g of display between portrait and
Q to children and adolescents. landscape mode
A o owe e - -~ =utritinnal causes
V4 it audicsses . cndemir vpockets i how mARY of e ot oo ol
0l anaemia i Caalits S 1 now many of Wy SV Ye QCUCHS IS e
PRSP | . fUncSer= ~F A< TCMENT ramvsicadn
wiul SpClids - rosis. 1unicyuon ol AWCCCCTCmeyr quireas
hemoglobinopathies and fluo

‘La vt

\
' (c) nly three (d) None O\QPQL'\‘ '
l ,»Mﬂ/iu four
|
i

]

“
\’\é&
fi“ -
—
"%,

0
X3
.'U >d
_,E
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I

\}/ﬁh reference to the role of biofilters
. 1 1o
\ in Recirenlati; 8 Aquac ulture Syat

IIO\\ neg

N
1 .

wein,
,.
10

statciie "~

\ \O\U‘A\ plonite

- 'S provide Waste treatment
9,&)@} ) by removing Uneaten figh feed,
ek’
2. Biofilters conver mi
Céo\& 2. |1 convert o HHNOMa present
(@b\‘/sﬂ mn fish waste ta M Faic, v
) \\-" 3. Biofilters
\‘» <! ! ICrease Phosphorys as
?Dg nutrient for figp in water,
How many of 4, Statements  ajvarn
Nts  aiven
ahove are correcis

R Y 163
{@ Only one

e Yo +
Cnu_\ LWO o

Al ‘l‘llltj‘l:)
- ) None
AT31 S
%. Consider the following naire -
vojects in Dpcr‘n"nﬁ'nn g&
| THAIST space
== Cepheids Giant clouds of dust and
gas in spacc
';cbmae Stars which brighten and @
?\‘“\ dim penodicaily b i
Plsars Neutron stars that are o(
K/‘ formed when massive stars
\(0«“ $ run out of fuel and collapse
V’\‘A -
airs are
How many of the above P

Correctls, motaladn
J

AL e -

Mnly onew

(b) Only two

All three

‘d) NOT]C

)
X

UST/62p

-

SN
o et 2

N

Which one of the following COUNtries hag

s own Satellite Naviya 1nn \uetnma

(a) Australia

Pec\""
7\9'

M)
(b) Canada V\
fc) lsrael »

/i) Japan

88. Consider the following statements :

1. Ballistic missiles are

at  subsonie Sneede

their flights, while

are rocket-powered only \in the
initial phase of flight. W

a medinm. ronmca
sSupersonic cruise missile,
BrahMos is

intercon ntinents!

Agni-'v 1s
while

solid-fuelled
! ballistic missije.

i B
given above ‘
t
i
[s=cta|
[ P.T.O. l

G Scanned with OKEN Scanner

a

Wiich o1 the statements
is/are correct?

{a) 1 only
(b) 2 only
fc) Roth 1 and o

W:hcr 1nor2 s



~

g9, Consider  ihe

o lollowmng  statements
TCgarding mercury pollution
1. old mining activily is a source

af merenry nr\\hnmn n the o ol
\\ \/‘na\ -hased thermal power
cause mercury polhmon

? There is no_knowsn

cxposure to mercury.

nlante
plants

UB\\

Q¢
v

safe level of

«

How manv af the above statements are

correct?

(a)

J/‘u\nu- Suon
yoOnly tWe

Only one »

(~) AN VA ‘\
‘\.' WA oLAAC O
3 {d) None <
w 90. With reference to green hydregen,
i consider the following statements :
1. Itfcan/be used directly as a fuel
‘Q,“t( \-,'U" forTfiternal combustion. X
%,\ e
?\\ 2. 1t 4an de blended with natural gas
~ - A am Foyal £ Yoo i =
Q QNG G3CA as 1uch 101 11Cat 01 powct
& »" generation \/
ot | |
(37 S\ 3. It {can_%e used in the hydrogen
o - fuetr<ell to run vehicles. A
N ot T
.7,‘] \
I . How many of the above statements are
s {1 C\ Neorrect?
N, Tan
. {a) Only one
1, A
EREC (h) Only two »
3 arEn /‘-)/ {f\\‘/
A e X All three w ,‘.,,(
(d) None &t
XDTG-F-GST/62B
: |- o

J

A

(SastC  Fhah'c Par}

Ceono mie”

llowing statements with
ndia :

t;\ALPC?rdmghlo the Micro, Small ana
lMé""‘“ ~ciprises Development
SMED) fct, Z605', the ‘medium

ALY,
enterprises’  are  ihose  with
in plant and

Investments
mdmmcry between 15 crore and

(
to the Micro, ;mall /

Cutcrpnises  qualify
undrer '.!., LGty secior, y
Which of the statzments given above
is/are correct?
(a) 1 only
(b) 2 onlye
(c) Both 1 and 2
\_’,/d}—*[‘!?f.'h.ﬁr 1 nor 2
Q2. With tc  Central
digital currencies, consider the foll
statements :
is possible to make payments

in a digital currency without using
US dollar or SWIFT system.

E———— )

91, Consider the fo

reference to |
1.

c
2
~=

»
vaill
owin

reference

ga »*

S

\%‘\ digilal currency can De Py
distributed with a condition L~
programmed into it such as a tme-

frame for spending it.
Which of the statements given above
is/are correct?
{a)
(b) 2 only
fc)l—Both 1 and 2°*
(d) Neither 1 nor 2

n the context of finance, the term beta’
refers to

1 only

93.

R {a) the process of simultaneous buving
{)"(" and seliing of an  assel from
r\“\')\r different piatiorms
OQ‘ (b} an investment strategy of a
portfolio manager to balance risk
versus reward ¢
fc) a type of systemic risk that

arises where perfect hedging is not

\w/pﬁssiblc
a numernc value that measures the

fluctuations of a stock to changes
in the overall stock market

=3
=1
&
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’q.i_ { Sides
”H‘ |
/ " ””l\_\w
o ', \‘)1‘.
eV ' Stay,
1\\( ] 1 He et
) Qﬂi \ ‘\lmn“ " P Qy
3 the Vg Ul
VD ) i w YOy, Q)
w\.g | \ 'l‘ln\; "'.,\'” | rJl.,'“' % .!l,'l
anae ity dan), - Miinteg)
‘ - )¢ “,'“\ 1‘\ LIAYY o : - Ir“h
Py Qepes Cdy A
L~ S} ed
T \ \
ale v 8
YIISID SRESR o
| TR g
/~ “‘\'\i\} . U GY - 1 ,(‘;.
My ' an ¢
rails . Mbey -|\,|
\_/: . A\ ({ ;“v‘“” \ VALK ¢
Ve «I.‘\l\( Al ‘\‘117 o
ity \ S Bany
DOrY o \\‘i‘,\l”. ) i1
" SHG. R L TP
5 Yoty
How
' MV of 11,
OTTeq y the .\\\ﬂ\(\ stat
ACTen g .
) { 1
one
(h) )
P \ V' two
] 11
( Nree
da) N OT¢

Qs & i
35. Conside; il

2\

“fA idia’s i

\[3' j 1‘;1~'~1p1‘) 1;1)?11c scctor health care system

) 0 SSpeay OCuses on curative care with
4 lmited  preventive,  promotive
‘p(.\ rehabilitative care.

y \f\Sm‘.mm-m-Il :

é’ P’\%d” India’s decentralized approach

\ ,‘:’\é) to health care delivery, the States are
\r ‘(5 primarily responsible for organizing

73X

¢ following statements :

Stateprent-] -

O

and

health services.

Q\I\ Which one of the following is correct in
respect of the above statements?

Both Statement-1 and Slaleme;nt-ll
are correct and Statement-Il is the
correct explanation for Statement-I

(a)

Both Statement-I and S!atcment—”

are correct and Stalemeqt—ll fls‘
not the correet explanation 107
Statcmcm—l .

] ect u

(c) Slatemcnt—l . is c:cr:

Stmcment—ll is Incorr i
ut

XUTG-F-GST/62B

97. Consider the following state:

41

(cd)

H'/

\‘}s\q {c)  Statement-]
&

ok v

P

\

),
Hig ot
! ]
! 1y
. bothe
! \ !
r
Lievnye,
( g
h i el
freng I {
ol
Fthe wael
} P—
™ Tie]
o " } v i

O the wirla

Iy
i

Bl 1o satisfy 1)
'\r»'ﬁ L — . o)i,ov: 91
ory — irnge .

ane ol the following
I

oect of the
o the aboye $talrr:

Hoth

statement-1 apd

correct and Staters

correct explanation for S0t
Both Statement-1 and Sear
e correct and St
not the correct exp
Statement=l

15 corre

Statement-lIl is incorret

Statement-1 s
Statement-1l is correct Ik

mn

According to the Cornsunn =
India, the Central Governmone : u‘('

a duty to protect States /\\MAL,

. s . . V{
inteynal disturbances Va

The Constitution of Indi: « g
the States from providine \ \K’U(O
counsel to a person bemg beo b ).

preventive detention

/\(‘(Wt
Terrorism Act, 2002, confess
the accused before
cannot be used asivi

dence

ul

ow many of the above stater

correct? ') ¢
. \Y
(a) Only one vo“ _}r:
k) Only two &
o) Al thee 44‘ /
4

(d) None

———
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\Viakery (v

™M indiet

o

A

which one ©! tne following couniries has

98.
peen suiiering from decades of civil strife

and food shortages and was in news
in the recent past for its very severe

famine?

{a) Angela

(b) Costa Rica
(c) Ycuador

() S[omalia

&

A\
v ( 3 sider the following statements :
| A g
Bodversity

{;/\(\‘/‘ Y. In India, the
gement Committees are key

. Mana
- %b"" to the realization of the objectives
S\U' of the Nagoya Protocol.
To bgl a2 et T Fe *‘1'\ )
~ U Fakl e
™ C 2. ‘The  bloaiversity Maniagoialint
= N ¢ e mittees | bhave importani
(b ommitiees have imporant
L \ functions in determining access
’/)I"v%‘ and benefit sharing, including the
0\ ? power 10 levy collection fees on
C (,17 ol the access of biological resources
C ( within 1ts jun 011, )
\ \‘5“\‘}\ its junsaicuou \
‘f‘ > Which of the statements given above
~ ,‘\ is/are correct?
\

1 only

{n)

(h) 2 only ¢

(c) Both 1 and 2

Neither 3 007 2

UEendva $ingh !

\'ﬁﬂ_&;u b€
DTG-F-GST/62B

| A

a

100. Consider the

Mindcel Makére For UPCC

99FH0300 52

Y Urs .y

8 AN
|01
foilowing statem

to the president of O,Q,.\
Pos’ e eve) f

nominated to either
or the 9/

)
v D(
enis in0
respect of election

India :

1 The members
of the parliament

irs of States are
included in the

1A e8
oc

Legiclative Asgembl

aleo ebgible 10 he

Electoral College.

\/mghcr e LU of  S.TCe y
\ Assembly seats, nigher I3 ihe X,
‘(/ T \ » ey A Y TS S
Al value of vote 01 each MLn 0Of wiar
State.
%value of vote of each MLA
of Madhya Pradesh 1s greater tnan -~

that of Kerala.

4. The value of vote of each MLA

\T of Puducherry is higher than that
of Arunachal Pradesh because the
population to total

seats 1n

ratio of total
number of elective
Puducherry is greater as compared
to Arunachal Pradesh. Jo
Q“Au(um olbx &30 =9 oo
o .p- (_)0& 7(°‘° ';q’
How many of the above statements are
correct?

(a) Only one a

\JA;MQ

(c) Only three

{d) Al four

| P.T.O.
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